VRIS EE=F Y T

53 TS 7 — &

F=ZV A (POPs K O'HCHEH) A9

[6-6] 0 p'-DDD - E¥)(pg/g-wet) EEHE
AR - 2006 (pg/g-wet)
WHAEE (M—2) @ 2525 (REE : 0) e () SR il 71
BHEE (BiE~x—2) :121/121 (R :0) oA 76
R T IRE 1 RE 1,100
R R : 4 /M| tr(1)
¥ fa B
BMHEE (hEX—2X) 7/7 16/16 2/2
RS (A~ —2X) 31/31 80/80 10/10
K] S 120 76 8
L fiE 200 86 ]
BERE 1,000 1,100 19
R /ME 7 tr(1) 5
sk | A W i Btk o
HFER L[ 11 Y LT ATA 1 66
2 73
3 66
4 78
5 75
R 2 (R LTY XA TA 1 690
2 680
3 1,000
4 910
5 650
)1 I J[RER BN E LTHXATA 1 55
2 67
3 68
4 71
5 55
. AR I 4| B B LS LTH XA HA 1 330
- 2 420
3 380
) 4 260
5 420
e b I 5|m P AHA 1 7
2 3
3 10
4 7
5 9
) R 6| mitads AHA 1 270
2 290
3 270
4 200
5 310
eI 7| LTV XA TA 1 550
2
3
4
5
JeifiE NEFSET THXT A S A 1 9
2 12
3 9
4 3
5 10
2 vuaiir 1 28
2 61
3 43
f 4 54
5 50
3| B AW CEPTH) TA T A 1 91
¥ 2 66
3 93
4 190
5 140
A 411 HE TATA 1 50
2 44
3 33
4 39
5 62




VRRISEE T =X U v VBT S T — & T=HYL 74 (POPs & HCHEE) A8

s st | B L e Bk E B (fé'ﬂgﬁt)
= SMBEE (B AR 1 93
2 34
3 30
4 37
5 39
R R 6| A *ow 1 270
2 290
3 260
4 240
5 270
HOLAR 7R RS AR ¥ 1 1,100
2 610
3 620
4 480
5 460
T i 8|1 & I3 b= o AR ¥ 1 640
2 560
3 210
4 770
5 700
55 IR 9|EEBEWZE) (&) v JA 1 86
2 90
3 77
4 94
5 92
PN 10| B s AR ¥ 1 650
2 670
3 550
bl 4 450
5 550
ST IR 11| B % e AR ¥ 1 160
H 2 430
3 300
4 420
5 280
)2 12| i AR ¥ 1 95
2 79
3 87
4 70
5 76
PN 13| 15 2R ¥ 1 92
2 88
3 110
4 130
5 130
TR 0 e 14|04 5 e e (Y5 +-1) AR 1 56
2 17
3 9
4 11
5 10
BRI IR 15 |BEBE Y- 5 78 /5 AR ¥ 1 29
2 37
3 43
4 46
5 51
PR IR 16| Py s SFIsusA 1 4
2 tr(1)
3 tr(1)
4 tr(3)
5 tr(2)
H A NEERNGED) PR 1 9
2 8
3 19
5 4 8
5 6
i I 2| R T B 44 Lo RY 1 7
$H P g
3 6
4 10
5 5
FED BRH TFREM L2 R E L,



